Roll No:-
Sem-V Diploma Exam 2023 (Odd)
[Time: 3 Hours] (Civil Engineering / Civil (Rural) Engineering) (Theory) [Max. Marks: 70]
Water Resources Engineering. (2015503)

- All questions are compulsory. (e v s1fari 2 |)
- Marks are mentioned on the right side of each question. (s @t wsr % 31§ 311 sifera foma 7))

Group (A) (7w 1)

Q.1  Choose the most suitable answer from the following options. (1*20=20)
(waiteres Sudw foreheht g ford |) :-
I. The earth's water circulatory system is known as

(et =T STeT afcErReT & FEerr )
(@) Water cycle (b) Hydrological Cycle  (c) Precipitation cycle (d) All of the above
(STt =1=6) (GESNIEETEEED) (=t =1s6) (3mis Tt
ii. The precipitation Caused by lifting of warm moisture laden air masses due to topographic barriers is
called
(Foremepfreh STareRt 3 T T T Ak AREIRE % I3 ¥ B ATl A weardt )
(a) Orographic precipitation (smfere awf) (c) Cyclonic precipitation (srskard =)
(b) Convective precipitation (daet= amst) (d) None of the above (3wrs & & =iE =)
iii.  The Commonly used rain gauge is
(STHAR T eI foRAT ST STt AT €)
(@) Weighing bucket type (ss+ sreet wehr =) (c) Float type (wcite wehm =)
(b) Tipping bucket type (fefi aeet s =) (d) None of the above (3w & & %15 &)

iv. The estimation of flood can be made
(SITG =T IFIHT T ST T &)
(a) By physical indication of past floods (& smet o wifae: ek =mr)
(b) By flood discharge formulae (s feie g3t =am)
(c) By unit hydrograph (g g sm)
(d) All of the above (3w @)

V. The amount of water required to fill up the pores space in Soil particles by replacing all air held in pre
spaces is known as

(Firgt = =romi o sz wft g =t fowenfia stk feogl 1 st o foTg strerwarss it <t e it e ST €)
(a) Saturation Capacity (b) Field Capacity (c) Available moisture (d) All of the above
(e erwra) (@ra <t &) (Suetse ) (Swreh @)

vi.  Crop ratio is the ratio of area irrigated.
(ot s, féfaa & 1 o1 2)
(@) In Rabi Season to Kharif Season (it €57 & @i s as)
(b) In Kharif season to Rabi Season (wii® €5 & it s )
(c) Under perennial crop to total crop (swewmdt woe & Fet %o 7)
(d) Cinder perennial crop to non- perennial crop (sedTEt we & TR~ SHEHTH HEe dsh)
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vii.  The depth of root zone is 90 cm for (sie &= =i mewg 90 .. et )

(a) Wheat (7 =) (b) Sugar cane (7= =1)  (C) Rice (araw =) (d) Cotton (st =)
viii.  For potato Sugarcane and groundnut, the method of irrigation is adapted.
(e, T SR HThett % for ferems <y fafer arqarg st 2)
(@) Free flooding (b) Border flooding (c) Check flooding (d) Furrow flooding
(ae fo=rs) (ady fé=s) (Frifea =) (= f=ms)

iXx.  The bottom portion of a concrete or a masonry gravity dam is usually Stepped, in order to
(SFshte = FomTé aTet TecaTeRNuT aite % et fewd o SR W e ST S €)
(@) Increase the overturning resistance of the dam (s & ucte wfiier =1 sgM & for)
(b) Increase the Sheer Strength at the base of the dam (ser & smmeR W att qrehd T TgM & forw)
(c) Decrease the Shear stress at the base of the dam (ser % TR W T qTE 1 F0 FA * fofv)
(d) None of the above (3w & & %15 T&i")

X. When the reservoir is full, the slope Which is most likely to slide is
(Ster Sremerr 7T S 2, o ford gt % Ragera 1 gert 31k GrerT Bt 2, 9% )
(@) The d/s slope (b) The V/s slope (c) Both (a) & (b) (d) None of them
(Frereft omr i gam) (e % 7 i Ta) ((=7) 3fix (1) 2F0) (3T =g =)

Xi. Which one of the following Spillways is least suited to earthen dam?
(Frfoafiaa o @ % w1 Ruerer gt o sy o e we 3 S99 ©)
(a) Shaft spillway (b) Chute spillway (c) Side Channel Spillway  (d) Ogee spillway
(e Reaera) (T foaer) (T3e et feaem) (aTrft feema)

xii. A Shaft Spillway is located (ue e Srfreta ant fora 2. )
(a) Inside the body of a gravity dam. (= e iy & 37e)
(b) Inside the downstream reservoir (SRm ST % 37aT)
(c) Inside the upstream reservoir (TaEi ST & 37eR)
(d) On side flanks of the main dam (e sifa o ard FFRT W)

xiii.  In bandhara irrigation the ‘that’ is divided into several zones which is known as
(Sram =TS & "ot W S 1 s & H [T ST @ S e S §,)
(a) Shaed (3re) (b) Phad (we) (c) Seal (fa=r) (d) Bhad ( =)

xiv.  Without causing any failure of the well the rate of pumping of water from the well is known as
(e it fopeft oft feroperan o fomm, s & ot W e SR’ @ T ke ST 2))
(a) Efficiency of awell  (b) Yield of a well (c) Specific capacity of awell (d) None of the above
(¢ i gera) (¢ it e ) (et St farfRre &) (3w & & e )

Xv.  open wells are wells having diameters Varying from (et 3¢ 5 % g & foresh =m )
(@) 0.5m to 1m (0.5 Hrex & 1.0 et 2rar ?) (€©)2mto 7 m (2.0 Hfrex & 7.0 Hiet BT ?)
(b) 1.0 mto 1.5 m (1.0 sfrex & 1.5 ftex grarr 2) (d) 10 m to 15m (10 ez & 15.0 fiex grar 2)
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xvi.  The cubic meters of water that can be stored in an irrigation tank between full tank level and sill level of
the lowest Supply Sluice is known as
(ot 3o e ST =y Sl T o foer T % ot ue fen 3 # wufed form S ae aret = wfiet ot B foRe T & ST S 2)
() Total Capacity (b) Gross capacity (c) Specific Capacity (d) Effective capacity
(Fe &) (et erwe) (Fire gem) (sl e

Xvii.  Run-off is measured in(srvare =i wmr s 2)
(a) m*/s(afs dere e wm)  (b) m3/min (sf e der @) (€) m3/hr (s ser der=m)  (d) None of the above (3w # & %1€ 72)

xviii. The gap or Margin of height between full supply level (F.S.L) and top of the bank is called
(7T 3 ot a1rafd waw 37K formmt % i o offer ot Sam & Sfax A =Sl ot et ST 2)
(a) Berm (=) (b) inspection roadway (e =) (¢) dowel (E=a) (d) free board (s =€)

xiX. A Structure constructed in an irrigation canal for the purpose of wasting some of its water is Known as a
(Foreft TS Tt o 38 5 T T Sa1E A o Ie3d U T3 113 HTHT i el STl )
(a) fall (%) (b) escape (w=ra) (c) regulator (vrier) (d) None of the above (3w & & =15 &)

XX.  Adiversion head work is constructed to (srre &€ e s fmfor foram Siar 2)
(a) raise water level at the head of the canal (7=t % 3fif ® it & s)g & o)
(b) regulate the intake of water into the canal (7t & urt o &&= =t fRIfT w0 * fo)
(c) reduce fluctuations in the supply level of the river (=& % smaf == # SaR-=E™ I F7 FH * )
(d) All of the above (3wirs @+t & ferm)

Group (B) (za -+)

Q.2 Explain hydrological cycle with the help of a diagram. 4
(o= <t weTIaT & STt g =03k o awegal)
OR (ateram)
Discuss about the various forms of precipitation. 4
(et 3 farfir=r =gt o s & ==t )
Q.3 Define irrigation Also write its advantages and disadvantages. 4
(R =t wfeaTfa ) 38e BrIe SR goam oft for])
OR (steram)
Explain drip irrigation What are the advantages and disadvantages of this type of irrigation 4

(Fgu =g it =amen =i 38 TR 1 =g o T SrEe 3R THEH ©)

Q.4 Draw atypical cross - Section of an earthen dam and. Show its components. Explain the functions 4
of each components

(= firgt & witer o U fafRTe shie e SMTd 37X 3Tk TIeeht T faaTd Wik ek o Rt oht SARE )
OR (steram)

Explain drainage gallery and its effect on uplift pressure. 4
(S Frerret e ST ST qalTa T $6eh T hl SATEAT hil)
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Q.5 Write Short Notes on 4

a. Basin flooding immigration b. Furrow immigration.
(diferm fewaoft forei
&, el s g 9. %g =g )
OR (31eram)
Discuss about the functions of head regulators and Cross regulator 4

(¥ Yoo i st v 35 T 36 it i e )

Q.6 Write Short notes on 4
a. Escape b. Falls
(@fere feoqoft ford
A T . el )
OR (sreram)
Write advantages and disadvantages of well irrigation Method. 4

(it Rfer fifer % e ot el e 1)
Group (C) (g - )

Q.7 Explain briefly the various Methods of estimating average. rainfall over a catchment. 6
("'uer ST &t § it aut s STEE TR s fafie Tttt i wa § ememse))
OR (areram)
Elaborate the various types of irrigation. 6
(fer=ms = fafir=T yerRT o oI & foream & w7
Q.8 Discuss about the various forces acting on a gravity dam. 6
(e at R R A ATt fafie st o o d == )
OR (areram)
Write the components and their function of a lift irrigation scheme. 6

(Frwe s =T o sresh iR 37k sl fafa |)

Q.9 With the help of neat diagram explain the various type of cross drainage work used in Canal System 6
(== ot o1 TeaT | et Yorel! § W fohT ST atel faf=T Yo o i ST il i SHEsy |)
OR (ateram)
Design a regime Channel for a discharge of 35 m3/s, with silt factor of 0.9 by Lacey's theory. 6
Taking side Slopes as 1H to 2V.
(et % frgia o sger 0.9 % e e @y 35 firet /= / & % Fafed & fag ws ffom =mat festgr #4) wmge gami &t 1H

# 2V <))

Q.10 Explain the various measures to control Seepage through the earth dams and their foundation. 6
(forgt 5 wrieit > S1eht i 3 wream @ foarar vt feifra s o fafieT st i s i)
OR (steram)
A 10 am soil has a field capacity of 20 percent and wilting coefficient of 10%. The dry unit weight 6
of Soil is 1.5 g/cc. If the root zone depth is 60 cm. determine the storage capacity of the soil.
Irrigation water is applied when moisture content falls to 15 percent. If the water application
efficiency is 75%. determine the water depth required to be applied in the field.
(Grwe firgh =t et et 20% @i Fem =1 oris 1090 1 forgt =1 ok et s 1.5 o / wfiedt 2, aife sTg e i mew 60
[y, 2 ar fredt i vigror emar frifc | frems s o a fear srar & st i A 15% o i s 8] afe o= e A
gardr 75% 2, qF ©d | @ o g trewaes art ot e i i)
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Q.11 Draw layout of Sprinkles irrigation system and show its components also write its necessity. 6

(Fesierer fi=ms JoTTeft T TI3TISe AT 3T $6h HIesht s fommd) arer & gaeht sTraveshan «ff fae)
OR (sreram)

Determine the design flood discharges (allowing an increase of one third) for a bridge site with the 6
help of the following date: Catchment area = 2x10° Hectares duration of storm = 8 hr, Storm.
Precipitation = 3cm, time of concentration = 2hr, gauged discharges for a past flood with average
maximum daily rainfall of 18cm was 3400 m/Sec.
(Frfafiaa e 1 wemar & 7o vt & fog fese e fewars (w foers 6 afg i s1gufa) F1 frefor ) s am =
2x10° 2, g o Safer - 8 wier, qr ant = 3 {t., weedr 1 g = 2 e, el arg % forg Sier fewrd, 18 at.

i sftaa srfreran i awt - 3400 e / 4. o)
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